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Unit 5, Lesson 12: Dividing Decimals by Whole Numbers | |

1. Here is a diagram representing a base-ten number. The large rectangle represents a unit thatis 10
times the value of the square. The square represents a unit that is 10 times the value of the
small rectangle.
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Here is a diagram showing the number being divided into 5 equal groups.

a. If a large rectangle represents 1,000, what division problem did the second diagram show? What

is its answer? \, 220 -5 = géL/

b. If a large rectangle represents 100, what division problem did the second diagram show? What is

its answer? | B 14 = 264

c. If a large rectangle represents 10, what division problem did the second diagram show? What is /%
its answer? ’3&9\_-\ 5= 9‘b1’7(

2. a. Explain why all of these expressions have the same value.  \/; mex 4 b., an 6{ a’(mj ,Z/,Wé,/
between explessms qre hofn Avided by 3.

4500 + 90 450320 45+0.9 4.5+0.09
Ysoo : @ o HST - W0 == Y4g =2 12 > 5
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b. What is the common value? 50

3. Use long division to find each quotient.
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@lfga};étudents set up a lemonade stand. At the end of the day, their profit is §17.52. How much money
do they each have when the profit is split equally? Show or explain your reasoning.
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5. a.Astandard sheet of paper in the United States is 11 inches long and 8.5 inches wide. Each inch is
2.54 centimeters. How long and wide is a standard sheet of paper in centimeters?

.54 # L inches = 2 7257 cm
T N A rs

cw{ \b’u/\jbg’A standard sheet of paper in Europe is 21.0 cm wide and 29.7 cm long. Which has the greater
area, the standard sheet of paper in the United States or the standard sheet of paper in Europe?
Explain your reasoning.
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